Peover Superior Primary School - Multiplication Policy

Year1

Concrete Pictorial Abstract

Make connections between arrays, number patterns and counting in 2s, 5s and 10s.

Doubling Doubling 5+45=20r2x5=10
5+5=10 or 2x5=10

5+5=10 10

KN S

Numicon Groups/lots of 3 x |:| =6
3x2=6

Dice, multi-link, groups of objects

Arrays

3x5=15 |:| 5 15
X =

00900

O
O
O
00
O

Solve multiplication problems with support (by using concrete objects, pictorial representations and arrays)

How many flowers are there altogether? Bar model 10 x I:I: 50

LA R R R 50

There are flowers in each bunch. 10 10 10 10 10

There are bunches.
There are flowers altogether.
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Year 2
Concrete Pictorial Abstract
Know 2, 5 and 10 times tables.
Numicon Doubling 5+5=20r2x5=10
5+5=10 or 2x5=10
4x2= 1 0
5 5
Dice, multi-link, groups of objects. Groups/lots of 3%x2=6
3x2=6
2x5=
Arrays
Place value counters 3x5=15 Annie needs 15 eggs. They are sold
5 10 @ @ Q Q @ in rows of 5. How many rows will
X =
0000 e she need?
© 10 10 1 o 000 ee

Write and solve x and + problems within 2, 5, 10x tables
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Multiplication as doubling

HE

Multiplication as groups of

4x2=8

0600

Multiplication using arrays
6x5=

Multiplication using repeated addition

Multiplication as doubling

18

Multiplication as groups of

4x2=8

OO0

Multiplication using arrays

Multiplication using repeated addition

9x[]=18

4x2=8

6x5=

Josh is drawing equal groups of 5.
Complete his number sentence:

5 x =1

5
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5 5 5
—00000-00000- O U O—

5x3=5+5+5

5x3=5+5+5=15

Recognise that multiplication can be done in any order,

division cannot

Numicon Number line If you know that 3 x5 =15
3x2=6 3 x 5 =15 Whatis 5 x 3?
5 5 5
- | | | | | | | | |
T LR LR IR s Ruby says
Or2 x 3 =6 ’ ’ ’ ’ ’
3x2 =and 2 x 3 = both have the
Or same answer.
= [s she correct or incorrect?
5 x 3 =15
Prove it!
Arrays
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Year 3

Concrete

Pictorial

Abstract

Know 2, 3, 4, 5, 6, 8 and 10 times tables.

Use doubling to connect 2, 4 and 8 times tables.

Write and calculate multiplication statements using mental and efficient written methods

Multiplication using repeated addition

3x8=

Multiplication using repeated addition

/N NN

-+

0 1 2 3 4 5 & 7 8 9 1011 12 1314 1516 17 18 19 20 21 22 3 24 25 26 27 28 29 30

3x8=24

Multiplication using repeated addition

8+8+8=

3x8=24

Multiplication using arrays
4x6=

Multiplication using arrays

4x6=
000000
900000
000000
0900000

4x6=24

Multiplication using arrays

4x | 24
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Multiplication using grid method

Multiplication using grid method Multiplication using grid method

3x18= 3x18= 3x18=
X 10 8 10
3 10 8
3 ccoogpoocooooo@gooo 3 30
m m R

HHH B
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Year 4

Concrete

Pictorial

Abstract

Know all multiplication tables to 12 x 12.

Use doubling to connect 3 and 6, 4 and 8, 6 and 12 times tables.

Multiply numbers by 0 and 1

Multiplying together three 1-digit numbers , knowing that multiplication can be done in any order.

Use knowledge that multiplication is commutative to
find the most efficient order in which to multiply three
single digit numbers.

2x7x5=2x5x7

B TR & "ol

ome
Tolae
‘ol &
‘oAae

(2x5=10)
"oR e ol
Ol e

Ol e
ol

w1
ORE ol
‘PRE om

(10x 7 = 70)

15x6= (Model multiplication facts using Numicon)

Use knowledge that multiplication is commutative to
find the most efficient order in which to multiply three

single digit numbers.

Pictorial

(3x4=2x6)

15x6=
We can use our knowledge of factors

tD hElp us Sulve 15x6
o900 280 2009

EEE g83 f23 33 ot ant

¢ o900 00 000 OO0 OO0

Use knowledge that multiplication is commutative to
find the most efficient order in which to multiply three
single digit numbers.

2x7x5=2x5x7

2x5=10
10x7=70

15x6=

15 % 6

¥ L |
Ixh xpb
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seleclesiss)s

3x5x6=
5x6=30
30x3=9

Multiply 2 digit and 3 digit numbers by a single digit.

Expanded method

21x3=
(Using Base ten)

A
A\
W

Expanded method

21x3=
(Drawing)  __

N
N
W

Expanded method

21x3=
T @
Fy 1
E L]
5 [
L 3 = |1)
= [ L1 |:-3 = 2':':'
| o | 5 |

Compacted method

34x5=
(Using place value counters)
260 0000
oD D000
QOL mﬁ
000 0000

Compacted method

34x5=
(Drawing)

Ho0 0000

; 'f_f"::'E ) mﬁl
000 0000
000 0000
Dol 9000

- S

Compacted method

34x5=

(5 = 4)
{5 = 30}

m ko = W
o ola A
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Short multiplication

Using missing numbers

3 9
x
1(])se

—————s.
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Year 5
Concrete Pictorial Abstract
Multiply numbers using known facts.
Concrete Pictorial Abstract
Number line
(Refer back to previous years for concrete examples) 102 x8 =816 102 x 8 =
102 x[_1=816
123 x[_]1=615

123 x5=615
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Multiply whole numbers and those involving decimals by 10, 100 and 1000

(Refer back to previous years for concrete examples)

Multiply whole numbers by 10, 100 and 1000:

Make the number 234 on the place value grid using counters,

HTh T ™ - T 0
(o) o0 00
® e %0

When | multiply my number by 10, where will | move my
counters?

Multiply decimals by 10, 100 and 1000:

gy

Multiply whole numbers by 10, 100 and 1000:

Th HTO
234

X 10
2340

Multiply decimals by 10, 100 and 1000:

34.91 x 10 = 349.1
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Multiply numbers up to 4 digits by 1 or 2 digits using a formal written method, including long multiplication.

(Refer back to previous years for concrete examples)

Short multiplication - Multiply 3-digit by 1-digit
342 x 7 becomes

3 4 2
x 7
2 3 9 4
2 1

(Refer back to previous years for concrete examples)

Short multiplication - Multiply 4-digit by 1-digit
2741 x 6 becomes

2 7 4 1
® 6
1 6 4 4 &6
4 2

(Refer back to previous years for concrete examples)

Long multiplication — Multiply a 2-digit by a 2-diigt
24 % 16 becomes

Wl = M ox
=T T S
ala O o &
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(Refer back to previous years for concrete examples)

Long multiplication — Multiply a 2-digit by a 2-diigt

124 x 26 becomes
1
1

AR 5 T R -
BlEaE o 0 B
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Year 6
Concrete Pictorial Abstract
Multiply using all multiplication facts
Multiply whole numbers and those involving decimals by 10, 100 and 1000
Multiply numbers up to 4 digits by 2-digit using long multiplication
(Refer back to previous years for concrete examples) 5 14 q 6l Long multiplication — Multiply a 4-digit by a 2-diigt
X6l =
% 5000 200 40 19 E.g. 5249 x 61 =
£0 E;o,ow 12,000 %400 | 540 | = 31940
- 5149 5 2 g
1 5000 | 200 b 1 4.‘
- 314940 61
+ S149 X
/_— ———————
3 L0189
e L2404

320189
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Missing number problems:

Place the digits in the boxes to make
the largest product.




